sSeHI2 1101 sregrass Aess, geid
253t 2021 ae:11a.m.-1p.m.
ForT: S nfSra Fsiter adear 2021 7ot 100

goiet A 3ipid foTaT.
TR EIR ThOO LN
A) 62079 B) 620079 C) 6279 D) 60279

5%74 + 1854 = 7130 az st *, # =
A) 6, 2 B) 2, 6 C) 3, 4 D) 5,0

fecicen fazarfRa uraseet Jz= ferar.
30,000 + 4,000 + 9 + 300
A) 30,439 B) 34039 C) 34093 D) 34309

7= %
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57345 & Fiz=n 31eR) o

A) U SR AL UeRIe A

B) Jdmdestel ddaresiA

C) Jaded goIR dleel Uddmesa
D) urgeR ReaR UddieA

39025 - 4398 =
A) 34517 B) 34527 C) 35627 D) 34627

Gl a1 piet 4 30T 5 =1 g2aTel 313c 3T fdfele Pier 8 a7 3rd a2 of do 3.
A) 5:40 B) 4:08 C) 4:40 D) 5:08

(370 x 2 ) + (1000 - 100) =
A) 740 B) 1640 C) 750 D) 940




geleT 31qUiiehiten! Jdid Hiel 3Tqulieh Shiordl ?
21 21 21 21

13 > 19 > 15 > 17

A) 21 B) 21 ) 21
13 15 17

fEcicen gt 4 of for: 9w $o7 ST Fs=n 378
A) 630 B) 1260 C) 1890

4 3it Faid T faueT J= 3E.
A) 1111 B) 1002 C) 1000

A
8

b

[C A

A) 18 B) 108

1% ara 3nfor urg arg it e =

A) 105 B) 165
Joicl shierdhalat 3iefchdl A 3mfor B a1 e
[A], [B], 402, 405, 408

A) 411, 414 B) 396, 399 C) 399, 401

goieT IR Fatd Act Fs ferar.
610813, 610831, 610381, 610318

A) 610318 B) 610381 C) 610813

375 +0=15 @& [ =
A) S B) 25 C) 390

U 37ede 31T U feaw = Ta.
A) 45 B) 35 C) 25

4% &1 37qUTich ereaid ferar.
A) AR TR B) urav IR C) uau o=

1604 a1 Fz2e ferestt S 3B,
A) 82 B) 8002 C) 802

D) 2170

D) 1001

D) 399, 396

D) 610831

D) 15

D) 40

D) ar 311 ar 8 ai

D) 820




el 37ep! Hdld oTaTel SBAT 31T TR 3ich! Jdld Ao TS Jieh A3l 3E.
A) 10000 B) 1099 C) 10099 D) 10999

geleTdes! A fdene diord - ?
A) 500 fa.fe1. = 5 forer B) 350 39t = 35 #ler
C) 34000 31# = 34 i . D) swfifdesiicr = 5000 #ilez

76834 I JS2Adict 6 30T 3 1 3iehien F2ifers fhdAddIc Bk 3E.
A) 5300 B) 57 C) 5930 D) 5970

15 = geia ured! | J3=2M 31
A) 25 B) 20 C) 22 D) 24

Uehl ARATN 3107 3RIar UR A JAT 312, o o1 31dr oiieh 47 et 3nfor 31 35 JAaft 3r
TR 1 ARA 5 PGl
A) 47 3 B) 35 2@ C) 41 2@ D) 82 3

HOTIBRTEN UhT 3GTEVI, HITHRR 23 31, arbt 80 312 31fr st 100 318, a3 81re fobat 2
A) 203 B) 2380 C) 2308 D) 2823

TIqol gl fopaiielies = ez
A) 1750 B) 175 C) 1250 D) 1500

AeplaTd AT JSAT HIOT AT 2
60, 59, 56, 51, 44, [
A) 34 B) 35 C) 36 D) 37

U Gl ABTSA! U0l AT ATeIdl 3T T HPIes! Fedl 31T AToTdl 96 Eldl. a o gablel el dcs
39S 3RTd ?

A) 4 am 30 R B) 4 arm 45 Bifr

C) 4dam 15tk D) 5 ara 30 fHfere

U fasU[hId diel 3FGaReN Iid! 63564, 29056 3nfr 51043 d Fesrel. a2 ugor #d bt ?
A) 1,43,663 B) 1,43,363 C) 1,43,636 D) 1,33,663

Jolel ASAT IaRT BT (eTal.
718, 775, 757, 781

A) 718, 757, 775, 781 B) 781, 775, 757, 718
C) 781, 718, 757, 775 D) 781, 757, 775, 718




U1 TIciie faemeifates] Jorran el siihsd 12 a1 3ifvT Serdidge 23 a1 318,
R 1 oTd U febelt faramedt smed 2
A) 12 B) 23 C) 34 D) 35

6, 1,0, 7 2 37 YAl Udbard draae 3iM0T 1 81 3fch Udheh RRATell oggl fobcll AR 3iehl F3T daR
Hal A ?
A) 4 B) 6 C) 2 D) 8

IIATAT Y& Pl 3Rl
A) Tgde B) faena i C) FeaH D) witast =rél

ST IeTeT IRel HIOTCT a2 AR J.
A) 4 B) 40 C) 0 D) 404

SR UahT 2N fohda 795 35U 38 a2 doma 7 Qe fhad 31Ae.
A) 5565w B) 4995%w@  C) 49653w@ D) 5965 3w

90 FieT 15 3rFcIedl ARAG TR 3RATH 5 B ARG, F0Tl al e aretdl.
A) 900 B) 1800 C) 360 D) 450

3rehe 100 Sui=n § et gl 3nfor 5 Suit 8 =i eldt. = f3mma e 50 Su=Et 1 s
311 20 Suie 2 Siiet fied. R 3ieids URUI fdhdl Iamha gietl ?

A) 840 zwd B) 910 3w C) 930 3w D) 1010 zw

1%gart 2020 st eifefar gldr. @ 1 a7 2020 s Hiord ar gidr ?
A)  erferar B) <fdar C) JAHAIR D) gar

Ul BRaId 226 Ul 3ad. UH UreaR 21 3iic! 3mad. a2 & Jxiehld UguT 3iiest fosdt ?

A) 4746 B) 4764 C) 4246 D) 4766

TNt o= Afadiaene I fotar.
8g, 5.8, 6T.

A) 85006 B) 50806 C) 50086 D) 5086




‘O’ &1 et agesrdn dhafeg, 318, a2 [eied agesre AT oI foTal.
A) OA B) OC
C) BC D) AC

U JCoE! AGardt Fbiast 7 : 30 areiar Hasge fereneht 3nfor dotegzen 23 drRy 3nfor 45 fHferei=h wrgiaen.
R ol SPTggHe hegl Ulgrdent 2

A) S T 7 ;15 arr

B) el wies 7 : 45

C) =B 8 : 15 arswar

D) Ra@ w6t 7 : 45 awr

3 4
25 t335 =

2 2 2
A) 6 B)S? C)SZ D)3E

3nfeerer FomoTs FREAR 37658 Su Jd et 3nfoT ezt 16478 o Id Pl BIET Iaha
AEIHIAS! el [etl. SR r Ugol I 55000 S0 SAeAT 3RATT o g AIe! el SUY ald ePIed 2

A) 18643w@  B) 19643w@ () 864z D) 1854 3w

1 @ 500 gaen Jsaite) Ja1 Js fopet ?

A) 100 B) 50 C) 500 D) 250

SR Uebl gsid 50 I ARR el ok 2% fheTIle AR fdhell geen aidia ?

A) 250 B) 200 C) 50 D) 500

UapT Brepromdt uRfdrdt 40 Jeh. 3RIe = Hiepiomen gle JAE arsidl effdl Yt 13 Jath. 318,
TR o1 Prepiomre faa=n arefat efial 3T,

A) 13 3. B) 14 3. C) 24 3. D) 27 3.

O znfor A = et gy e ferer.
(3 x 1000) O (300+ 1000) A (1000 - 300)

A) <, < B) >, > C) >, <




49a50. ol Hdia SMasc Uebl BeliduRiter gelet deril Ulgel UeTd 3T ferer.
Q =109

e RQRRAAQLAQAQAQ
7 QQQ

e | Q QQQ

e QRAQQAQQ

deraTcite] et UgRoT 352 fobalt 2
A) 20 B) 2000 C) 200

o 3110 femIehett 3TasuRT UeRUT el fball 2
A) 7 B) 70 C) 30
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